Efficiency vs hit

2 12 T T

= [ : :

2 F : :

< 1—-----.------—------. ------ :------—-.---

(8] I . .

c - . .

@ F : :

o T Y T R i

€ 08 : :

() L . .
s ST [ I SRR SR
02+ +ﬂ----?~.,-+-+- +ﬁ B IR S

Eot P

o & 1 | METETET AT A

s

o

o
095 0 20 30 40 50 60
TP hits

— 5 :grm;m TTOT_TUUUEVT
—— D itted4_T000evt

—— D it_cpeOK_1000evt

— —— D it_cpeOK_SORTRZ2_1000evt
[Efficiend —=— b it_cpeOK_SORTRZ2_TESTOUTLIERS_1000evt

[o2]

o

efficiency vs layers
o o
ul

I
N

e
W

0% 5 10 15 20 25
TP layers

Efficiency vs pixel layer
0.8,

0.7
0.6
0.5

0.4

efficiency vs pixel layers

0.3
0.2

0.1

Ratio

6 7 8

0 1 2 3 4 5
TP pixel layers

Efficiency vs 3D layer

0.5

o

o

efficiency vs 3D layers
o

-

%92 4 6 8 10 12 14 16 18 20
TP 3D layers




	Contents
	Page 1


